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Question Number : 1 Question Id : 6981773673 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement

A THOf Bf Big-Te FL-1

@

Options:

Habitual behavigur 12 inherited

AACIAEMS TG JI45MC T

Habits are acquired dispositions

AT TH TGS SAFINTT

2. %

Habitual actions are performed every time in the same way
3. %

Habitual actions are performed with great ease

€S GG SIAL AASIATG STEAS5E] AHANT 23
4. %

Question Number : 2 Question Id : 6981773674 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

NCF 2005 has strictly prohibited board examinations at this level

a=ATazF 2005 A3 AL A-THC AR FI- QL A=Y FA0L
Options :

Class X only
TGS WA <@

1. %
(Class XII only
TG VAT e
(Classes V, VIII and XI
SIEBE, SHE A2 AF T *[[AeL
3. %
Claszes X and XII
W @92 WA+ “[eenet
4. %

Question Number : 3 Question Id : 6981773675 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The percentage of representation of parents and guardians in the school

management committee prescribed in the RTE Act. 2009

2009 AR =<E1E SE<E (RTE)a AvEia=ta JE<«isi= F=ibhot =0 =11 432
SefeFHLE ol 314 LI<E Fl TAEL




Options :

One fourth

AF TOIUIH

Two third

VS TOTHILH

Three fourth

S BEgees
4.9 RIS

Question Number : 4 Question Id : 6981773676 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Students 1n a primary school are found to have a very positive attitude towards
helpmg others. That school can be said to have accomplished the goal of

developing this domain of students

BT ST AN BOASIGAE T AL SISEF AR T AT
YT STAL-T LTS W A1H | W9 AT S AVEAEEE| 7S AFGd Beauea e
TTSd ARG L A FAEL, ALET = A

Options :

Cognitive

FHETE (PTefge<F)
1. %



Affective

SIT=RIFE S (ST )

2.
Conative
e
3. % )

Psycho-motor

4% ASHL-T A-Ted

Question Number : 5 Question Id : 6981773677 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A person 1n his twenties has joined coaching centre for learning gymnastics and

dropped out as he could not perform. This can be attributed to the fact that

A AT Ol 984 FIAAL GG ST 2Tl aFEf FL-T67 AWEET Sl 27,

FITG STAL-T SV FA0L 1 ST Wl Sff O BIOL Wil 198 a3 TEe1ibi <

Options:

the individual has crossed the critical age period for learning gymnastics

A% AT GRTHGF *NYF TG TIH S F40 FAE

1.4



The individual did not reach the maturation level required for learning

gymnastics

QIO IE “TUd Gl T ASAE AR & “A<1F ATNST SFA-1G,
QAL TSl WS AoAL S-TEISL S 1)

the individual understands the guidelines for learning gymnastics

—

GO <TUE God ST ARG AV <RI ST Fh AL

=40

3. %
The individual have a positive attitude towards gvmnastics
SAQALFAE TSR Aol ST = -Ter =t

4, ®

Question Number : 6 Question Id : 6981773678 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Arrange the following first four stages of Erikson's Psychosocial development in
sequence in ascending order
A&
Options :
Trust vs. Mistrust; Autonomy wvs. Shame and Doubt; Industry vs.
Inferiority; Imtiative vs. Guult;

AREA FT SIQTEA; TR AATST T AGET G HeIALE; SLATAT

=P 5|-{4-{2I'@|; OV 15T FlTa SIATEAL- 19



Industry vs. Inferiority; Initiative vs. Guilt; Trust vs. Mistrust; Autonomy

va. Shame and Doubt:

STYTHATE T STTe[0t; GVL- 81 Io1] SSEIL-14; TRE T S0,
O AAIGTS A AGG AL HeAE ;

Trust ws. Mistrust; Autonomy va. Shame and Doubt; Initiative va. Gualt;

Industry vs. Inferiority

AMEH QL TARET [ FAFSAAG ST T FG@T A8 AT ; THAT-157 T4
SIS 14, SHARAT FA S0

Industry vs. Inferiorty; Imitiative vs. Guilt; Autonomy vs. Shame and
Doubt; Trust vs. Mistrust.
SIERATE T ZITAIST JTHAL-15 T ALY, FHRS A TG T

AGET AL HWLE ; EH T SHEH
4. %

Question Number : 7 Question Id : 6981773679 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement relating to self learning

A ARG Ao F-1 TFofel ga
Options:

self learning helps in learning at one’s own pace

TR TR L TG SOTOL *T2reT AT Fa



self learning helps In strengthening the learning skills of the individual

b e 1 e s T B | 2 s o 1 A B T e A =1 o

2. %

self learning helps in setting goals of one’s choice

AR ARSI AGAS AR WL AU FSL AT F0
3. %

self learning can only take place in formal educational set up

AR AF=Tgd UG “(FAAAAATE SO LD ALHETS T2
4.

Question Number : 8 Question Id : 6981773680 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

One of the following 1s NOT an attribute of good facilitator in classroom

TS STATTS YT - BT <[HETREL SIF-T TWAASELE S I5 «F

Options :

analytical thinking

1. %

knowledgeable

2. %



use of little or no dialogue

v SEIHL A <] H G181 91 A<ki414 = =
3. ¥

ability to bring people together

. AAEFL AFGATS FAE TFHG]
4,

Question Number : 9 Question Id : 6981773681 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Language 1s not purely learnt by accident or conditioning and much of it 1s
biological and species-specific, according to
VEBAI4E 1 “OASIFEL O SFFOeEL AT I1F =1, I8 T O« B3
QI Q92 SRS Wi , TeaW ©f

Options:
Noam Chomsky

T AT
1.4

Sigmund Freud

ﬂ-.i:_.\.al«.\ Ii.'t. -

John Dewey



Lev Vygotsky

2

NS O

Question Number : 10 Question Id : 6981773682 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

For ability grouping of students a teacher should consider

BEIgAnd Mald AFTTS! A “fFa<s S<«[ES e F9901 -

Options :
gender
1w

mdividual differences

ATOLHFLT ATTTO IS

roll numbers

L-To A1
3. %
physical characters
FEISEIE G IRIEITO]
4. %

Question Number : 11 Question Id : 6981773683 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Shwetha has learned about the Mughal dynasty and then of Sultannate
dynasties. In the exam she could not answer a question on Mughal dynasty as

her learning of Sultannate dynasty was interfering. The type forgetting here 1z

TS L-TETA ARG A2 S AAGT ATAGE FHI4T STOIEL | FI]g SHFaTE L
- Terel ATAIGEE AFBT S TQod a4l ATt A1 | F < AAS g Agaie

SITIGIS QUL THORALS FEL _ AFATGL -1 ST Gt G FBlEl
Options :

Proactive inhibition

AR5 AT

1. %
Repression
2. % '
Disusze
3. %
Retroactive inhibition
SIS LT
4. &

Question Number : 12 Question Id : 6981773684 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



A student who knows to play plano has learnt to play keyboard quickly. The

transfer of learning here 1s

e

= BIGRE! ST AARTST T, A TIGTOTY

A% THOd F 41 T

FEL-1C GO A AL “wag

Options :

Negative

AsNENe

1. %

Bilateral

ey

Poaitive

=
51

Zero

G-t

Question Number : 13 Question Id : 6981773685 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Disconnection of Stimulus Response assoclation is

HAB=ATH ATASHA SHAL-THITTHA aF HLA- B S] ZA
Options :

1. %



Extinction

TEAL-THATHA

Generalization

A=A T
2. %

Discrimination

Spontaneous recovery

4. %

Question Number : 14 Question Id : 6981773686 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identical twins Ram and Shyam differ a lot in their academic achievement. This
can be explained by this principle

GO TG AT 492 “EE AFHEG FIod FAGA AA0d FF | 98 HGF 41
AT S qAEE F41 =7 -

Options :
Development is predictable

33 I; L @f.'r & E .Tﬁi-i[
1.

2.



Development 1s spiral and not linear

TTTS T S{ATEIET-T qiefF 1=

Development proceeds from general to specific responses

Gl AR 2N AAEE SRS AT TIHT AT SIet

Development is a joint product of both heredity and environment

TG G SIS A2 S T0TA T A

Question Number : 15 Question Id : 6981773687 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The concept of ‘private speech’ was put forward by

“SITESLE WA AF HIF Bl Asi= == STe

Options :
Bandura
GIDEGH

1. % e

Lev Vygotsky

S QA TS
2. ¥

Piaget



Chomsky

Question Number : 16 Question Id : 6981773688 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Thorndike’s this law of learning indicates the physical and mental development

of an individual to learn a subject

SAGEE AT T FL-L-1 AATIAHG N T FHAGT T T “TF=1F 3 AA
TSR ST Fall | U A9 93 *[Tere Wod Bf ©f M

Options :

Law of Readiness

o =k A0GIIHA
1.4

Law of Effect

& T Qe
2. 3

Law of Exercize

& ©I°F AFATASS
3_33

Trial and Error

BT
4.% O



Question Number : 17 Question Id : 6981773689 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

ICT helps

Options:

m equal learning among learners irrespective of their individual

differences

SR SATEAWT TALS “TRAALALA =L <<= F= A=L-150

in learning for disabled students only

FEAAGS ARMHSTAT AFTT BIQANL Gol=l <<l

in self-paced learning

&

m learning of high 1Q students only

FEAFATGA TEE AVLAET (TS T8 ) AT AT dmee “If<m=i

Question Number : 18 Question Id : 6981773690 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



In this type of schools. scope for diversity 1s more

A5 AIFIE AFAL, ACTQGAE HAT-T57 AT

Options :

special

e

1. %

inclusive

= DR BT o
LY Aok &

2. ¥

school meant for specific communities

ATATEE ASEWIEE G2 H<GEa

gender specific schools

ET_I&FT f.'q 'r. 'H.: " ;_

Question Number : 19 Question Id : 6981773691 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Teachers should consider teaching asa/an

“TFIAFILS “TFIAFNEA FL SIS BT F1 TOTS aFET
Options :

one time training

AT FA AT
1. %



ohe way communication

S 2R 2AT-TS=0-T51

art acquired from birth, nothing to do with learning

Gl AGAL TG C Fal, *TATT LT ALATREIA

profession which requires continuous learning

ST, AT FFMMT <2 SFA- TGl =et
4.

Question Number : 20 Question Id : 6981773692 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Subject centred paradigm of organising learning can be more appropriate for

this level

A% HSAE Gold AT FEEE SHISFE TaF 42 Sel s 9l TSEFe
Options :

Pre-school

1. 23 L L
Elementary
2. % ¢



Secondary

BIEERIES

Senior secondary

TEE ===<m
4.

Question Number : 21 Question Id : 6981773693 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement

AS 1w Tgod Bf Bigag Fat-T

&

Options:

one can have physical health without emotional health

AFGE AR HATALLE STEAL-T FIlg A< AALT A2

1. %

one can have a sound mental health without physical health

AFG AT A U ST AAE AL F g “=I1R A AT 702
2. #®

to be healthy, individuals should have physical. mental, social and

emotional health as they are interdependent

HAALTA TS TaNL, SEAGAF TR M1, A AGF A8 T

ALFAS AL SIAC-1 TOL T, FIA5 A1 AFL S ST
3.¥



emotional health depends only on physical health

AR AAALUT TG A< ASALTS T e

Question Number : 22 Question Id : 6981773694 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the correct statement in promoting democracy at school

AT SIerod SO FAGAL HH(F THofBl bigale Hat-1
Options :

in taking the decisions by the school authorities, voices of the children

must be heard

AT TR FAET AU w0, Boduoamid Tolag /-1

SR
1.4

m taking the decisions by the school authorities. the voices of the

academically meritorious children must be heard

AFH FLoFH VA AMAS A= S0, TAET Blgd Breamig Tel-s
#[- T ST

authorities of the achool can take decisions on their own as they are well
educated
ARG O AU NG 08T A FAGHTA AL 9% A

JAher ST
3. %



head of the mnstitution and teachers can take decizions az they are trained

ME0Y T SEGALE AFAITANG, TCAF SIS SFH 472 TFFFA1Z

a3 AMYIS Afet st
4. %

Question Number : 23 Question Id : 6981773695 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify the INCORRECT statement with regard to the emotional development

o

TGS MFAC T FAGAL T TR Bigarg Fat-1

Options:

1t depends upon the experiences of an mdividual

AT JAFOE e TS qETd T Of Aied Ft

1. %
it 15 an outcome of interaction between heredity and environment
AL AT AL AATATA T AL ST WL AW T Ol FFaAmaT
2. %

it takes place automatically as per their age as it 1s totally dependent on
genetic factor
A AT A2 AU ABT AFALFANCSIAL ALHB G 2, FIF ABT A I

3.

1t 1s influenced by the socio-economic, cultural and educational factors

AT STFL-ATAE, ARTFO<F AL “TFASNT FIAsE G A St 32



Question Number : 24 Question Id : 6981773696 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Good teacher is one who
Options :

tallks continuously providing information

FAANSMG 2T FANH F2l TA

1. %
transacts only textbook material and make the children by-heart it
STOH - TS TL-1F Wil 492 ALEE O TUAS FASL T

2 ®

males the students get good marks by conducting practice tests

SIATTE ST AT Brgaeigaiiid SiEL-T S5a4 STt ATSEE Fai

ensures the quality learning of the students

BIeAEIgA S Gela SSFHE SHDI-SATD AN#[Ehe ]

w Y

Question Number : 25 Question Id : 6981773697 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



One of the following helps the teacher in understanding the learners

- IR ST T F-TET “faawal “fea<Eiveg Jaret AT Fa

Options :

both intra and inter individual differences of learners

el Sl a<¢ e o AAogd AR
1.9

mtra individual differences are adequate

e

SEA ATS9d STEU<FE TUEHE

M

2. %

inter individual differences are adequate

T ATOOF AT AP

neither intra nor inter individual differences are required

SAEAT A9 SAbIE T AToAed AR S TATHE 7

Question Number : 26 Question Id : 6981773698 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, identify that 1s acquired by birth

A TReSETE TR -6 Ge=oel 19, ©f Bigais Fat-T
Options:
attitude

W



aptitude

AT FETl

mterest

EEIEE]
3. % .

habits

gz
4. %

Question Number : 27 Question Id : 6981773699 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Personality 1z dynamic

e CAfgad qahsied

Options :
i all children

FA AGECE T
1. :

only in out of school children

FEAAGS AFAGE DDA THL

only in school going children

FIAFATGS AATEAAST LBV T



only in merit children

4. %

Question Number : 28 Question Id : 6981773700 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A method that is useful to understand oneself based on one’s own experiences

BT ST, A1 - qARO S AGIE TS LG 5 Srgef FaT Oid! Zaer,
AT TG, TG FIIFA

Options :

Experimental

Case Study

A HABIGT

Introspection

W

ST
® "R

Ohservation

Question Number : 29 Question Id : 6981773701 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Among the following, one of the following 1s NOT a purpose for conducting
evaluation of Class VII children

- IFE ST T, T FCT AFE AAST A AW TAAE S
VAT w7

a

Options :

suggesting the students to drop out from school as they do not have

required abilities to continue further studies

L TsWTsUT &6 Uglisnusd BT TausnaETar G sl GlupTs
GG HEH BUGL WA SR WIS, e O T STER- IR sz

A3 ASAE TOL-1 TATTY MRS A8
1.4

giving feedback for overall development of the students

BIOABISALS AGATEST Tloid Gd SAoiwaial nueH
2. %

revealing the aptitude to the students to choose future studies

BIEAEga Vi SEAS] T STH Tl OVLE SATHAS ST THT 7 Fael
3. %

making the students understand about their interests

4 & TR SISV -1 AT SAM[HE SEL, ATSf JHST AT F1

Question Number : 30 Question Id : 6981773702 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

In SQ4R technique of learning and memory, identify that is NOT the part
of 4R’s.

Tl a9 T s SQ4R s o, F-19 B 4R a9 @iesr o1

Options :

Beview

ﬂﬂg -r.., . F o

4. ®
Language I Bengali
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Clear Response:
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Question Numbers : (31 to 35)
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ST BT STut A= Tng 31-35 s{E<EsE«d Tgod nia
BaA = G i 2=

e Iur=T qafet St |

TG ATITEL WA AT |

ToWTel 4L, T4L A1 T4,

ST SH T S AT |

FES AT, 210 AT =<0

AT =1 FTEL, Ao =T |
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Question Number : 31 Question Id : 6981773704 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Options :



Question Number : 32 Question Id : 6981773705 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Faloleia 4l

Options:

LAV Moo
2. %

N ERIEEIE

ok,

EEIRICEERIINE
u w LY LS

Question Number : 33 Question Id : 6981773706 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

EEMEE iR
Options:

<r

1. % =

SIS

Question Number : 34 Question Id : 6981773707 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

A A A Al

Options:

RIS
’|. e



Question Number : 35 Question Id : 6981773708 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

FHS *<d AEe S
Options :
1. % o

FEEET

G
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Question Label : Comprehension

ST SIVATSH STUT Ao 36-40 SIS Tood Ale

FEEIol i TG qa Bl B SE-] GAEE AFUW 98 q9; e,
FAAE TR RIS QA HEATT Fal2T AQISH (FACAT — FF T ? Tofaegan marel
Sl g g Iehor ATAFMEEAT | TAHEE IH1H - Tq9 SN AT -G gl
oL T G T TG AL | - I AT TN ? TSR T S8

ST TGS 2271 THIE | AT G AL 1 — “QF I #1214 FYT AT F© FATL
TGS | WAL AL AT W2 SITAIN, SIS Al =ATH, G571 Qe =AF, 59T F<l SO
(IS A1, ST 1 | TS AR TG =03, FoWil A, QI AFUT FUH U -

P

Fg TG A ST, AFUT FO VI S-S, &G WA AL FT Fell FI FL 7912

%

AL FIEL A, TG Tl AT AT ST Tl S 57, 3G9 AE(F |° aFUT

TR SIS T AT SO0, TTRIF Gl AL AR AGAL FAS T, & Helid well =
AF SAUT AWM A9 [ #-1F Aol T @, T g S AT aF e w-EE

FOIS GEEL FOL I ST 7 AABEN AW A-TE 9P S| | a9 S| orE
SIS =11 |9 == 224

Sub questions

Question Number : 36 Question Id : 6981773710 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ATAT T ATGI=A

Options :

1 <00 AfL
o[ | T=TAT AL
2. % -

S| TLAET AL
\/? F-3 5



27| S AL

Question Number : 37 Question Id : 6981773711 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

#L-T219 e AT
Options :

VAT ST=IT

Question Number : 38 Question Id : 6981773712 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SUEE “IAE AU F oW

Options :



TR

—

s

Question Number : 39 Question Id : 6981773713 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

Question Number : 40 Question Id : 6981773714 Question Type : MCQ Option Shuffling : Yes Is



Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

L2 *[TeTE =,
Options :

"= Tof arem
1. %

= @,.. ﬁ.\ -

—

ESIRCE i

= ook

W=l @i

Sub-Section Number : 3
Sub-Section Id : 698177190
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 41 Question Id : 6981773715 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
‘SIL-TT TAATHLS FCUF

Options :



TN STFS
2.9 . -

AT A

Question Number : 42 Question Id : 6981773716 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
] G 1 s 2 (o LAl s ] = o | R
Options :

T

1. #

THE SHAT

" e ST

<TCHAT WL

Question Number : 43 Question Id : 6981773717 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Options :

AT A

AT o=l

ESERE ]

Question Number : 44 Question Id : 6981773718 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

BB & TG SEsy aq AUF

Options :



TEE SHATT

Question Number : 45 Question Id : 6981773719 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STV DEEL- ST AFE Sl __

Options :

SAS A
1.% 7

5 Ao
3.8

g% U

Question Number : 46 Question Id : 6981773720 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

"SI *IT<FHIRL T2 T2l DA, S "0 Fid Gwel
Options :

= —
SlEEISES)



IS BRaaqe!

2. %
3. % )

A S
4,

Question Number : 47 Question Id : 6981773721 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

ST TS A qra

Options :

ATYT-T =1 WAL =10
1.4

5@% HEE SHAEL

THol ANGL Tl AIATD

G- 9iSiA ai 5T

Question Number : 48 Question Id : 6981773722 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

SIIEE AIFA6! Bigsg Fat-T

Options :

1 % AT S AT F T4t ?

, o TIEETECAR AL TAT =TI WLl 331 |
3 % TSR 2o 2

4. % TEEE G

Question Number : 49 Question Id : 6981773723 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
AIANG “<rBE AN =
Options :

E G AG

-

3 \‘./ jla. 7 [I":-’u IEE;:LH'. m

-



Question Number : 50 Question Id : 6981773724 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
QA __ T A2 B ADI<®

Options :

2t + SV

1. %

i + Svg
2. =

AT+
4. ®

Question Number : 51 Question Id : 6981773725 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

STeTE SAb I AT <0

Options :

'I.“ﬁ



ST

eeei

Question Number : 52 Question Id : 6981773726 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Bk U s L O L A 1 2 B R E B L=
Options :

SL-TE FIET

Br-Terng JeT

afers o4l

[

Question Number : 53 Question Id : 6981773727 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

TeETe T4 SEd AL SE 999 F-61 oL AL E, T



Options :

7.8

Question Number : 54 Question Id : 6981773728 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

AL ALTS] ALl SiETd O AUEHTT ST Fia< qa959 S8

Options:

1. #

AT BT




Question Number : 55 Question Id : 6981773729 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

Options :

G

Question Number : 56 Question Id : 6981773730 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

M-eESe el “fFas «TFqARL F0 O

%

Options :

TG AAGAH T G Wil

AfF=L STV Tot



TEB “[S1* T SH19[E Fol 24T

HATGL AL FIGL AFAE GAIH] ATA Fol 240
4.

Question Number : 57 Question Id : 6981773731 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Options :

- Griell AT AT G AT ANEHT

- “TRAE A VMRAIE] FATRE J12T o e

- TE] MBS GET T T2 Wi g TR “f<mal

ST T8 THBIe &S T Wie TG TR =]
4. %

Question Number : 58 Question Id : 6981773732 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

AT FECGAL J AT G



Options :

AFET ATATEE AT =

F- -1 AFET AATEE = AiE

eT =TT=I= S

G IRIEEES 1574

Question Number : 59 Question Id : 6981773733 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0
BT 51 T AETS T =1, O T4

Options :

HIAE FL AL SATE Fald FHTS]
1.+

“QVE S JASL AE TS

TFEq THAUHT FA FIAG]

“V AT T FHAO]



Question Number : 60 Question Id : 6981773734 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“ALNGEAL AF G *(Faw

Options :

S AT E

SIS FIIALAE

2. %

ST ST
3. v

SEISlE TIRElEd
4. %

Language II English

Section Id : 698177117
Section Number : 3
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 26
Number of Questions to be attempted : 26
Section Marks : 30

Enable Mark as Answered Mark for Review and
Yes
Clear Response:



Maximum Instruction Time: 0

Sub-Section Number : 1
Sub-Section Id : 698177191
Question Shuffling Allowed : Yes

Is Section Default?: null

Question Id : 6981773735 Question Type : COMPREHENSION Sub Question Shuffling Allowed :
Yes Group Comprehension Questions : No Question Pattern Type : NonMatrix Calculator :

None Response Time : N.A Think Time : N.A Minimum Instruction Time : 0
Question Numbers : (61 to 65)
Question Label : Comprehension

Read the following passage and answer the questions from 61-65. Choose the
correct option for each question.

One cannot forget the joyfulness of one’s childhood. Childhood 1s the stage of our
life in which the smallest of things gives immense pleasure. Children often do not feel
happy with costly things if it does not arouse any curiosity i them. If we remember our
childhood days. we can say. we were happy with things which we could collect on our
own, be 1t a piece of copper wire or a pebble or some caps of bottles. We were often
ready to play with our friends without knowing that we were learning a lot through those
plays, toys and games.

Now, that beautiful phase of our lives which we have walked past comes before
us when we observe our children as a teacher or a parent/guardian or a caregiver. As we
did in our childhood. our children also love to create boats and acroplanes from paper.
They like to take rides on a tricycle. enjoy splashing water. try to catch soap bubbles.
love the company of pets, play with colourful toys. and get engaged with board games
and electronic games for hours,

Sub questions

Question Number : 61 Question Id : 6981773736 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following one 1s NOT mentioned 1n the passage.

Options :



piece of copper wire

a pebble

a smart phone

caps of bottles

Question Number : 62 Question Id : 6981773737 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

*That beautiful phase of our lives which we have walked past comes before us...".

The beautiful phase refers to
Options :

1. childhood

. adulthood

teacher life
e

parenthood

Question Number : 63 Question Id : 6981773738 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0



Correct Marks : 1 Wrong Marks : 0

Children often do not feel happy with costly things because

Options :

they are very costly.

they do not spark any curiosity.

they are bought by the parents .

. they spark curiosity.

Question Number : 64 Question Id : 6981773739 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The smallest of things gives immense pleasure. Pick the meaning of the word “immense’.
Options :

1 = lttle

_ puny
2. %

tiny
3. %

huge



Question Number : 65 Question Id : 6981773740 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

As per the passage the following statement is correct.
Options :
Adults like to take rides on a tricyele.

1. %

We were eager to play with our friends, knowing that we were learning a lot from

5 % those games, toys, and plays.

Children are fond of making boats and acroplanes out of paper.

o Children often feel happy with the costly things.

Sub-Section Number : 2
Sub-Section Id : 698177192
Question Shuffling Allowed : Yes

Is Section Default? : null

Question Number : 66 Question Id : 6981773741 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

We had many apples to carry.

Complete the sentence with correct option.
Options :

1.+ oo



Question Number : 67 Question Id : 6981773742 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

We can reject the unscientific and unethical nature of customs and traditions.

Choose the opposite meaning of the word ‘reject.’
Options :

| % OPpose

» disown

challenge
% g

accept
4. v

Question Number : 68 Question Id : 6981773743 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Identify the part that contains an error in the sentence.

Most of the house in the village are verv well planned.
A B B D

Options :

Question Number : 69 Question Id : 6981773744 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

We should to the next item on the list.

Choose the correct option to complete the sentence.
Options:

mMove o1

move to

3 % move of

move by
4, %



Question Number : 70 Question Id : 6981773745 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the option that best expresses the meaning of the idiom ‘Call 1t a day’.
Options :

Celebrate the day.

Get out of control.

3 My patience has run out.
e

Stop working on something.

Question Number : 71 Question Id : 6981773746 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly spelt word.
Options:

acknowledjment

o Aakenowledgment



acknowledgement

4 % acknowledgmint

Question Number : 72 Question Id : 6981773747 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The Marina Beach 1s beach 1 India.

Choose the correct option to complete the sentence.
Options :

1 % a longest

an longest

3 % longest

the longest
4. e

Question Number : 73 Question Id : 6981773748 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
We should how to say ‘No’ without hurting others.

Fill 1n the blank with the appropriate word.

Options :



1w

know

no

knew

Question Number : 74 Question Id : 6981773749 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Pick the correct sentence.
Options :

It 1s an beautiful flower.

My mother was a teacher.

Children need an lot of sleep.
3. %

I need a umbrella.

Question Number : 75 Question Id : 6981773750 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0
The violin 15 being played by Radhika.

Select the active voice sentence.

Options :

Radhika playing the violin.
1. %

Radhika has been playing the violin.
2. #

> Radhika 1s playing the violin.

. Radhika was playing the violin.
4.

Question Number : 76 Question Id : 6981773751 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Shravan said. ‘I want this mobile phone.’

Choose the sentence in indirect speech.
Options :
Shravan said that he wanted that mobile phone.

1.4

Shravan said that I wanted that mobile phone.
2 %

Shravan said that he has wanted that mobile phone.



Shravan said that he had wanted that mobile phone.

Question Number : 77 Question Id : 6981773752 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This 1s the same lorry ran mto the roadside shop yesterday.

Fill in the blank with the appropriate option.

Options :

what

2 that

this
e

4 % Wwho

Question Number : 78 Question Id : 6981773753 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
My friend prefers coifee tea.
Fill in the blank with the appropriate option.

Options :

1 % from



“ than

1o

between

Question Number : 79 Question Id : 6981773754 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Choose the correctly punctuated sentence.
Options :

The weather this Winter, has been windy. wet. and unpredictable.

The weather. This winter has been windy, wet. and unpredictable.

3 % The weather this winter has been, windy, wet, and, Unpredictable.

The weather this winter has been windy. wet and unpredictable.

Question Number : 80 Question Id : 6981773755 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Whatever he says has so truth.

Pick the suitable word to fill in the blank.
Options :

1. % more

5 much

mainy

most

Question Number : 81 Question Id : 6981773756 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The train was thirty minutes

Fill in the blank with correct option.

Options :

lately

> % latter

late

4 % latest



Question Number : 82 Question Id : 6981773757 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The work must be finished Friday.

Pick the suitable option to fill in the blank.
Options :

bv
1.+ ~

from
e

bye

n

Question Number : 83 Question Id : 6981773758 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum
Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This art eraft 1s by the students.

Pick the suitable option to fill in the blank.
Options :

made
1. %

make
2. %



malkes

making

Question Number : 84 Question Id : 6981773759 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

“Is 1t okay 1f T use your computer for a minute?”
This sentence indicates

Options:

oranting permission.

ordering.

asking for permission.

refusing permission.

Question Number : 85 Question Id : 6981773760 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
‘My English World’ 1s the title of
Options:

1.



. English handbook for teachers.

Programme designed for the children.

English text books of primary level.

4 % English online course for the teachers.

Question Number : 86 Question Id : 6981773761 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

‘LAD’ stands for

Options :

Language Acquisition Device.

Learning Acquisition Device.
2. %

Language Auto correction Device,
3. %

Last Accuracy Device.
4. %

Question Number : 87 Question Id : 6981773762 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum



Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Identify a discourse and assign a task to construct it. This task 1s part of

Options :

Silent Reading.
1. %

Pre-Reading.
2 %

Post-Reading,
3.¢

Extensive Reading.
4, % -

Question Number : 88 Question Id : 6981773763 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The tollowing is a feature of ‘Student Centred Learning.’
Options :

Teacher is not a co-learner along with students.
1. %

Student learns 1n 1solation. not in groups.

Student’s participation in all the learning activities will be encouraged.

Assessment 1s done only by teachers.
4, %



Question Number : 89 Question Id : 6981773764 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
The ftollowing i1s known as ‘Magnacarta’ of Indian education during British rule.

Options :

“ Hunter Commuission

Wood’s Despatch
2.

Sadler Comumission
3. =

Raleigh Commission
4, %

Question Number : 90 Question Id : 6981773765 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The following 1s NOT a tool of formative assessment in English at Primary School level
in Telangana State Board.

Options:

Observation
W

Project work
2. %



Slip test

3. %

Experiments
4. &

Mathematics

SectionId: 698177118
Section Number : 4
Section type : Online
Mandatory or Optional : Mandatory
Number of Questions : 30
Number of Questions to be attempted : 30
Section Marks : 30
Enable Mark as Answered Mark for Review and
Clear Response: Yes
Maximum Instruction Time: 0
Sub-Section Number : 1
Sub-Section Id : 698177193
Question Shuffling Allowed : Yes
Is Section Default? : null

Question Number : 91 Question Id : 6981773766 Question Type : MCQ Option Shuffling : Yes Is

Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Ramana started watching cricket match at 9.30 am in the morning. He watched

TV for 220 minutes. He stopped watching TV at

A1 AR ATGL TEIT FARLE TG WLell < Ft) 7 220 T1E el nensf 7
FETE FTH Bl el qo4 et nia?

Options :

1.50pm
%

. 12.10pm
2.

3 ¢ 1.10pm

n 12.50pm

Question Number : 92 Question Id : 6981773767 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The number of three digit numbers having the same digit in the units and
hundreds place 1s:
AFF ¢ MTFE AU AFS WEF AXTEE OfT ST ALYT HLLE T
Options:
0

1. %

2.v



180

60

Question Number : 93 Question Id : 6981773768 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Dafference of the greatest and smallest five digit numbers formed by

~ o

digits 3.0. 5.2, 8 1s

3.0, 5,2, 8 V@Al 551C 9290H 492 FIAAGH AT TAEFH ALYAH T od Td

Options:

64962

64038

Question Number : 94 Question Id : 6981773769 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Ravi's age is 9 years. His father’s age is thrice his age. The ratio of Ravi's age to
his father's age after 3 years 1s

A TIA 9 TEA| T A TIH T A S| 3 T2 SF I IIAA AL
T 1S T=AE SATS Z40

Options :

Question Number : 95 Question Id : 6981773770 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Satish wants to plant trees to cover his square field completely. then the number

of plants required are

O T FASMFE FATORL ST 1541 Bl A1 Tl SIME FSMSL OTe, Siga
ST Tqw T STl ALY TA

Options:
360

1. %

289
2. ¢



Question Number : 96 Question Id : 6981773771 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Leap year among the following is

A TS ST T S TE
Options:
2022

1. %

2042

2012

2002

Question Number : 97 Question Id : 6981773772 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



The next number in the series 4. 8, 24. 96, ______1s

4,8, 24,96, _____. a3 AGG SIS ALY TF

Options:

144

Question Number : 98 Question Id : 6981773773 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The difference between place value of 3 in numbers 43.26 and 4.03 15

43.26 @712 4.03 HLLATA 3 A HA AT TL=AT ST 25
Options :

1¢ 2.97

L]
[t
L%

297



Question Number : 99 Question Id : 6981773774 Question Type : MCQ Option Shuffling : Yes Is
Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A Minimum

Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The HCF of 8, 56 and 60 1s

3, 56 &2 60 &= sl (HCF) ==

Options :

Question Number : 100 Question Id : 6981773775 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Which of the following numbers will not divide 312792 exactly?
TG -1 AL A==l 312792 Fqs=el o Arere <=7
Options :

6

1. %



3.¥

[

Question Number : 101 Question Id : 6981773776 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

Anil's school is 670 meters from his house. One day he left home and walked
215 meters. Then he realized that he had forgotten his science notebook. He
went back to home, collected the notebook and went back to school. The distance
travelled (in meters) by Anil on that day for going to school altogether is

S AFA ©iF MY A 670 [eiE WaU awwie A ATl e Ziel 215 TferE
AGIE ST IO A T AT Ol G @i 2TSIE! "o o STgtl AL ANl i<,
ool FLEEE FAL AFAL STTBECT A TSI Gold AW SieAw Fo Ve
(AITBier) Srefaas Fawr TaEfE?

Options :

| % 885
, w430
3 x 1315

1100



Question Number : 102 Question Id : 6981773777 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

It 12 a four-digit number. The digit in thousands place 1s largest single digit.
The digit in the ones place 1s smallest natural number. Sum of even prime and
smallest odd prime 1s in the hundreds place and even prime number is in tens

place. The number 1s

AFf aFFl B1E el TN‘-”{'*'ITI L] pey B 1 T qﬁqﬁE]’ WD AT AFF HLUl|

AR FAME  OFE AR G-F FAGRE AN GG ACEAE 978

AR AGLIT TTAGE TS AL “oad R 498 GG TS
QO[] VIR T ST AR 20

Options :

Question Number : 103 Question Id : 6981773778 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



10000kg expressed in quintal as:
10000 wtaf o FSAEELE AT A 07
Options :

100
1.+

10

1000

Question Number : 104 Question Id : 6981773779 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

100 Iiters of milk 1s packed into 250 ml packets. The number of packets made 1s:

100 =BT via 250 =7 SEIFiEr e Tl 9o, Ol Sl SEIPEE ALY T4

Options:



[t
Lhn

Question Number : 105 Question Id : 6981773780 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

The number of factors of 18 are:
18 @ T AR ALLET TaT:
Options :

4

Question Number : 106 Question Id : 6981773781 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

. i AT - ; ;
The product of two fractions is 6. If one of them 1s :? the other fraction 1s

P - P _2 e
VBTSSRI S[oFFA T4 6. SWILd AFB1 5 A, SwAb! 2

Options :

1.



Question Number : 107 Question Id : 6981773782 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

An angle more than 0° and less than 90° 15 called as

0° @ qr<1f @2 90° A F= FL- 15w a1 T3
Options :

Obtuse angle

 HAERC-TE
/l. H L A

Acute angle

5 @ TR

Right angle

HARL-T5
3. %



Reflex angle

STVl FL-191 (ATEREAEHA FC-19)

Question Number : 108 Question Id : 6981773783 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

V324 =

Options :

Question Number : 109 Question Id : 6981773784 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
5% of 60 1s

5% a4 60 ==



Options :

12

Question Number : 110 Question Id : 6981773785 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The angles of a triangle are in the ratio 3:4:5. The largest angle of this triangle

15

AFET Tafe@td F-156@d S5 3:4:5 TAL Galeqbid qegos FL-19BE srafs

o
Options:

1. % s



Question Number : 111 Question Id : 6981773786 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

A speed 20 m /sec 1s expressed in km /hr as:

BT srel 20 TFFE VO FATE AT FHL ARG HL-T7 BT

NG ra?

Options :

Question Number : 112 Question Id : 6981773787 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The value of p, if 0.5p = 0.065 1=

=i 0.5p = 0.065 ==, TIEAL p — AF = T8
Options:

15
1. %



, % 0.013

Question Number : 113 Question Id : 6981773788 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The total surface area of a cube 15 54 sq.cm. Then, the measure of its each edge

N

(in cm) 1s:

B FARE AASE AROAE FHAQA 54 T AN LA, T<b 1 AFlbl 9154
SIS (ATIher) 24
Options :

¥

1. %

L]



Question Number : 114 Question Id : 6981773789 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The arithmetic mean of first five composite numbers is:
S[FU ATEE! AL 160 HLYTE 1T F97?

Options :

7.2

7.4

_I:I"-.
h

Question Number : 115 Question Id : 6981773790 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
“A student applied the knowledge of ratio and proportion in understanding the

concepts of time & work and time & distance”, then the academic standard

attained by the student 12

"AFG TFI AT & F1G 992 AT \F WAL LN -0 G S5
G2 SSTSIE QB SR8 FAL", OIS SR W@ ATl T8 Za:

Options :



Problem solving

FIHEAT A=A

Reasoning and proof

— -

G2 3 SEI

Communication

SIS (FATGATFI=I)

Connections

HLEL-TT (FIILT4I+)

Question Number : 116 Question Id : 6981773791 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Arrange the following steps of the project method in a sequential order.

STARIEE LS DL LIS TR FATTATAL ATG

A) Planning the project

B) Creating situation

ST Tef Sidr =l
C) Reporting the project

ST S
D) Explaining the objectives

TSI TeE] w41
E) Executing the project

ChDGSE‘ thE‘ COIrTect answer:

Options :
A DB I

1. %

B,D AEC
2. ¢

B.AECD

AE.D B.C

Question Number : 117 Question Id : 6981773792 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Match the following concepts to be taught with most suitable teaching learning

material:

AIDLEL TSARE <R “Tea GV (Bf & ) AT N1 G A fe

HIISISTET T4

Concepts

qref

A) Percentages
ASTe

B) Types of triangles
CEIMIET

C) Number of edges of basic shapes
AT SRS lEEE e
oo

D) Decimal numbers
VTSR Fe e

Choose the correct answer:

A5 TGO A0 F4:
Options :

A-11, B-1, C-1v, D-1

A-11, Bav, C-1, D-in

2. ¢

A-m, B-1v. C-11, D2

A-iv, B-m, C-1, D-11

Question Number : 118 Question Id : 6981773793 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

11.

111.

1v.

TLM
DK

Solid geometrical shapes

T GATGF A
Grid paper

S[EATT FI5G
Abacus

EREIGIGIN

%

Geoboard
G EA- e



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the advantages of the unit plan among the following:

A TGS LA STATE STaTFasi1d AT Blenig F.

A)  The unit can be completed within the allotted time.
SUHTBE! AT AU T AN Fl A09L ST

B) All the topics in the unit can be taught sequentially.

ST A AraE AL g A4
C) We can know which unit is to be taught in which month.

F- 197 SIHAT FL-171 DAL AT -1 ZAT O AT SISl S0
D) The teaching and learning materials required for the unit can be provided.

GBI Gelal ST “TFE 3 *Teld TSR AG41E F1 A0S S
Choose the correct answer:

ASF TGOAB! A6 &
Options :

C (SI D 0111;'

e C & D

A B &.‘ B Glll}'
e A, B& C

A, B& Donly

e A, B& D

. % ABC&D

Question Number : 119 Question Id : 6981773794 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Read the following statements related to evaluation in mathematics.

S

Statement-I : Assessment for learning and assessment of learning are

involved in continuous comprehensive evaluation.

qfqef| L AT Gl AR A9 AT TEAE TN FAENG TSR
RERLECL

Statement-II: Continuous comprehensive evaluation involves formative

assessment and summative assessment.

qelll ;0 AR AERE TR SSATEE AR 492 ARG
T Y|

Choose the correct answer:

T TGOAL! A6 Fe:

Options:

Statement-I is false and Statement-II 1s true.

afret-1 AtemE aqe Fast-1l T

£

1. %

Statement-I 1s true and Statement-I1 1s false.

aiqef-l wE= a2 Fol-1l JfEm
2. % |

Both the statements are false.

Ted TRoqas =

Both the statements are true.

o IO A
4.



Question Number : 120 Question Id : 6981773795 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

If a topic 1s divided into several parts and spread in different classes as per the
difficulty level of the content. then the approach adopted in mathematics

curriculum 1s:

TVl IEIHA A TR AGd ATA AFE AL FALFE LT TTET Fl 57 442
ST *EUATl TUT TS T, O 551G SATARIA 21T SLofel 2

Options :

Topical approach

Bsffrtat staef

1. %
Concentric approach
2. Gl -
Inter disciplinary approach
ele[@sfeteia sasl
3 %
Teacher centred approach
4 gg < [ E: N .‘ grﬁ\. Gr.

Environmental Studies



SectionId :

Section Number :

Section type:

Mandatory or Optional :

Number of Questions :

Number of Questions to be attempted :
Section Marks :

Enable Mark as Answered Mark for Review and

Clear Response:

Maximum Instruction Time :
Sub-Section Number :
Sub-Section Id :

Question Shuffling Allowed :

Is Section Default? :

Question Number : 121 Question Id : 6981773796 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The nutrients which are required by the human body in very small quantity

among the following are

698177119
5

Online
Mandatory
30

30

30

Yes

0

1
698177194
Yes

null

TS “E TSRS TIF ST SE T S -1, e e iosmi< T

FL-ETOL U= T STAr1eT SeL?

Options :

Carbohydrates

“EAl



Fats

g
2. %

Proteins

3. %

Minerals

—

ﬂ ﬂ a_ Il=
4.

Question Number : 122 Question Id : 6981773797 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
A flower that has both androecium and gynoecium is called as
m J:. i b o -t r'l I I‘ﬂa?\ rli‘. :I-w_-:I I \"‘I\EI -E‘_iﬂ- E i"l

Options :

Incomplete flower

s 5l

Unisexual flower

TGSl Fa

Bisexual flower

3 ¥ AFEGST TR



Staminate flower

4, % '

Question Number : 123 Question Id : 6981773798 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Jams and fruit juices are preserved with

GE @98 FELE 99 ALFTRATS FAl T

Options :
Salt
EEk]
1. %
Sugar
o
2.9
Honey
Y
3. % =
01l
ol
4, %

Question Number : 124 Question Id : 6981773799 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

As we go upwards in Troposphere layer of Earth’s atmosphere, the temperature
will

ST AT AL AT - AL TS TSI TS, TIrgat

Options :

Inecreases

AT

Decreases

2. FTAW

Remains same

AT ATFAL
3. %

Constant
4% EECIEE D)

Question Number : 125 Question Id : 6981773800 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The first hour after the accident 1= known as

VB4 SI<S] < 9561, i "4 S=ohe?

Options :

1.



Critical hour

FAE <R SNEIE

@
Silver hour
FICEIERIEIE]

2. %

Saving hour
- ATelt SeEE
3 %
Golden hour
ST 9L S GH
4, &

Question Number : 126 Question Id : 6981773801 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The future energy resource among the following

AT THT FL-T6 SIS ol TEH?

Options :
Water

1@ G
Coal
el



Petroleum

¥ .E‘Jﬁ i u”lrzl.. =]
3. ®

Natural gas

4, %

Question Number : 127 Question Id : 6981773802 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

The largest organ in human body among the following

AAEEATATS S T FL-THE T M Togo= =57
Options :

Bone

Small intestine

ial. %" . hlﬂ
3. %
Skin
C IE.I



Question Number : 128 Question Id : 6981773803 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

World Water Dav is held annually on

ol 984 A Ga WA SEsfe o9

Options :

220 January

22 *[ Gt
’|. F
11t April
112 as@Ea
2 ®
2274 Narch
224 4D
3. %
11t June
ox MEST

Question Number : 129 Question Id : 6981773804 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0



Earthworms breathe through their

FOL-T AREI A0, FE ATEE?

Options :
Skin
1.« 27
Gills
Tor] 2
2. ] ES o
Lenticels
3. % e einle
Stomata
4. %

Question Number : 130 Question Id : 6981773805 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

The plants with fibrous root system have leaves with

SIEZA ATEE Sl siford A== =2
Options:

Parallel venation

HATTOATHA STAH
1.¢



Horizontal venation

TG F LA

2 %®
Beticulate venation
3. %
Pranched venation
g MRS ST

Question Number : 131 Question Id : 6981773806 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

The following disease 1s caused due to particles of mercury

ATaerETeTes@Ta AT FL-14 STAUET S Foiid Gl =7
Options :

Minamata

—

HHET=TET
1.4

Pellagra
STEATST

a

Diarrhea



Covid-19
Fr-Tehe- 19

Question Number : 132 Question Id : 6981773807 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
Identify the gas caused Bhopal tragedy among the following

AT TR SATS T -1+ ST B T SL-15716 o[ BIaee! Apefe?

Y

Options :
Ammonia
1.%

Hydrogen sulphide

2 %
Methyl Izpeyamide

3 o ETEE STEACTARET
Sulphur dioxide
AR TIE AFATST

4. % :

Question Number : 133 Question Id : 6981773808 Question Type : MCQ Option Shuffling : Yes

Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A



Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, the states that come under the Western Zone of

India are

ST TR ST T, FL-191 AGEEE Sraodai eI ae?
Options :

Gujarat. Rajasthan. Goa and Maharashtra

SGATE, ATGALU,ST-TA 492 TSEEES
1.¢

Gujarat. Punjab, Himachal Pradesh and Maharashtra

S[GAIE, STATE, TG SEWH 98 TSEEEd
2. %

Maharashtra. Goa. Jammu & Kashmir and Ra jasthan

TSRAEES o012, G @ FEEE a9 AGHA

3. %
Maharashtra, Jammu & Kashmir, Rajasthan and Gujarat
TSEEEE, T SFEEE, AL AL SEAe

4. %

Question Number : 134 Question Id : 6981773809 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

Identify the true statement regarding the Longitudes

FETE A4S FASF A6l BiEae Fat-1

Options :



There are 90 longitudes on either side of the 0° longitude

0 Tfet HaArat=nena a<F S« 90 Bf vamaf=me«r =nes

1. %
The 90° East longitude passes through Greenwich
SEATELE ST Wit 90 TIS[ET S VAT =1 eell Bf S5 St
2. %
180° East /West longitude is also known as International Date Line
180 Tis[El SR\S[BT=1 HATHA NIl BT SHEIa==<=1a ©lE &S ==
EEIRI
3.¢¥
The time difference between two consecutive longitudes 15 5 minutes
BT =< AT T A AAF ¢ TH=HE
4. %

Question Number : 135 Question Id : 6981773810 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time: 0

Correct Marks : 1 Wrong Marks : 0

From among the following. the two main rivers originated in the Western

Ghats of India are

LTS ST THEL F-T VBT S A STeld B 2Tt TS s
2Bl

Options :

Narmada and Tapti

- =T a9 STt



Mahanadi and Godavar:

TSET A2 S-TwiE<ar
2. ®
Erishna and Narmada
5 % T L T
Krichna and Godavan
aFe S[7-
4 o TN AR SR

Question Number : 136 Question Id : 6981773811 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

These minerals are required approximately in the ratio of 4:2:1 to make steel

ALTE TS ARG F-1 UG ATE qfa T-1Bef 4:2:1 5402

Options :

Iron-ore. Cooking Coal and Lime Stone

| TR SIS, T T G AL G

Iron-ore. Manganese and Lime Stone

LT AR, TANGSTAG AL FZT HEL-14T
2. %



Cooking Coal. Iron-ore and Manganese

FL-TF FIAT, WIS SSAE A2 TANGSTS
3. ®

Alummum, Iron-ore and Lime stone

4. %

Question Number : 137 Question Id : 6981773812 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

During the period of Mahajanapadas. ‘Bhaga’ refers to

TG-SV AT ATAFEL Tlel Fael A< F41 T%

Options :

The share of the farmer that was equal to 5/6% of the crop

BIEfATa STe«f, =1 “F{=te 5\6 SIS« =
1. %

The share of the king that was equal to 1,/6% of the crop as tax

TSI L, HT T AL AUSHT TG, A 1\6 T4 FATH
2. ¢

The amount of tax to be paid to the king by the Grihapathis for
cultivating the land

G " Geld S[Eseiitd Ml I Sl S @i WisH 39
3. %



The amount of tax collected and repaid to the king by the Gond Patlas

S-T7V STTEAT W 20 SIS S ALSEE F41 T 992 O AMGi<e e
)

Question Number : 138 Question Id : 6981773813 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This Mughal Emperor granted Robert Clive the right to rule Bengal
AR TRS -9 6 A e T2 FL 1 <A Fa1d S T8ga
FA?

Options :

Bahadurshah II
o =i = Il

Shah Alam II
*[Ta ey 11

Jahandar Shah

3. ®
Akbar I1
4w AR

Question Number : 139 Question Id : 6981773814 Question Type : MCQ Option Shuffling : Yes



Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

From among the following, this turned out to be the first all India struggle
against the British Government although 1t was largely restricted to cities
- TR ST ST S -TNET | B A9 AL @2 71 Se e

Options :

Swadeshi Movement

ATATATT ST - 1o
1_ ] % 5

Vandemataram Movement

BT U B 2 G [ T
2. ®

The Rowlatt Satyagraha

T ANEAE AGATEES
3. ¢

The Non Cooperation Movement

TAZEL-T51 HI=WL- T3
4, % 2

Question Number : 140 Question Id : 6981773815 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



By the time the British East India Company entered India. the Portuguese

had already established their base in this region of west coast of India

AT AT FAEA SHE SO FL-TSAT SIAaoada. ST Faigh | Tof=E
SN SIIOLd SHGI THFEL STVl Shgof AT FL FHALEL

Options :

Calicut

o FEIFE

Mangalore

SR SIAL-TE
2. ®

Bombay

T

Y

3.

Goa

4 T

Question Number : 141 Question Id : 6981773816 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0
Among the following. the true statement regarding the State legislative

Council of Telangana is

AT RO SEAT AT FL- 1o AIFABT SLALGSIT HBLE LG (ATLE (G FIGTHA S
AL AGH

Options:



It consists of 60 members

aBfor 60 &= AhAA =let

1. ®
The Governor nominates 1/12™ members to the State Legislative
Counecil
HELE FGAAETG FIGAEL 1/12 AVHIAFL SrS<1< TeL- TG Faie
2. ®

The State Legislative Assembly elects 1 /3™ members to the State
legislative council
\‘;I"; ol 'r-t.' . @ .'*. .i. I_ I. xhl'? X .‘. rl‘;y A2 . 2 g 1!3 TR "

AAETe Fa |
3.¢¥

The members of the Legislative Council are elected for a term of 5

yvears

G HAAD G F QAT AVTAA! S5 TBA HIIH(HA Gl A<D Tl

Question Number : 142 Question Id : 6981773817 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0
From among the following. the two acts passed by the Government of India
for the protection of Children are

Options :



The POCSO Act. 2012 and the Juvenile Justice Act, 20153

W= AL SEFE, 2012 298 W gesd s@<we, 2015
1.4

The POCSO Act, 2012 and the RTI Act, 2005
POCSO =12+, 2012 a=¢ RTI =2+, 2005

The RTI Act. 2005 and the Juvenile Justice Act, 2015

W e EE Wike, 2005 a9 v e SEEe 2015

The RTI Act, 2005 and the Nirbaya Act, 2013

T SEe e 9<e,2005 492 v Aed S=@i<wE , 2013

Question Number : 143 Question Id : 6981773818 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time : 0
Correct Marks : 1 Wrong Marks : 0

Identify the correct sequence of the given temperatures in the ascending

order

AT TR TISRTgET SEl BL-T6 2TF AT HIF Fad Bigae Fat-T
(12°c, -16°C,29°C,0°c, 1°C, —1°C, —-4°C)

Options :

. 0°c, —1°C, 1°C, —4°C, 12°C, —16°C, 29°C
1.



2l B e BG, 1.6 196, 39C

=10 —4C, <16 L. 06 16 12T 29°C
3. 3

29°C, 12°C, 1'C, 0'C, —1'C, —4'C, —16°C
4, %

Question Number : 144 Question Id : 6981773819 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

In India, ‘Anthyodaya Cards’ are 1ssued to these people

ST O SOl TVEH FIC * FL-17 1€ ATIWld G2 Ble <1 TIEL?
Options :

The poorest of the poor families

_— ST STt ST AT ACLHL I s

Agricultural Laborers

2. %

Below Poverty Line people

) AT WA AT 60 TAATH T
3.

4. %



Senior Citizens living in the rural areas

SIS IANN S ol

Question Number : 145 Question Id : 6981773820 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A
Minimum Instruction Time: 0
Correct Marks : 1 Wrong Marks : 0

In Telangana EVS text books, the captions like “Look at the picture — think

and say”, “Think and say”, Discussion In groups” represents mainly this

academic standard

IS ‘TUfad aq 157 e "ZAbid 0iel OIFE _ gt 498 Iy,

"Bl FET-T @98 A", AT TYAT AMAL-TBAT FAl” A8 S AGUTG F-1
MG SATHOLAIG ABACE FL T F<l ?

Options :

Conceptual understanding

HTeIsrg -l

Questioning and Formulating Hypothesis

GIRGTATN FE1 a2 S AGAAnY Fl

Experiments, field observations

SR AR T A2 ATGAFIS L ST FT

Information skills. projects

TUH TRACl, STAFAA
4, ®



Question Number : 146 Question Id : 6981773821 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

A year plan for a particular class should be prepared for the remaining

working days by deducting the following

[ Fom

AGET AATHE FHAA Gl AIEE AR FAOL T Awe 2fosEia TL=T
Efi-lﬂ E‘Jﬁ?ﬂ-ﬁ. ¥ ?'."h. _f:\ 3.;

Options:

School Working days in the academic year

SAFTCLAF TTAE AFALE F< WA
1. %

World environment day

5 AfE ST wias

National science day

Gioie TG wiaH
3. % ‘

Working days required for Inservice training

o9 A A BAElE a9 God S WIAH SEa-1a
4. ¥

Question Number : 147 Question Id : 6981773822 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0



Correct Marks : 1 Wrong Marks : 0

Which of the following activity best suits for teaching “different types of

houses, Post office, Banks™?

AfwEfufe sEfe T S WET «fwa siefa G ADBE T AL “ 9iefw

M TGS, SA0-THE STeRia, JANEF" 7
Options :

Real Objects Activity

P i [ —
3 i I B e o O B s S O if';
4 % %

Chart Activity

.‘1 ."ﬂ :‘JI‘E f

Fieldtrip Activity

e
I

FACEA S SEAFES]

Picture card Activity

SI<FO FC SR B

Question Number : 148 Question Id : 6981773823 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



“Imagination of the outcomes based on known mnformation” 1s the learning

mdicator of this academiec standard.
"SIRAbTe SUEE T STgef FaL Fai=rald FAsH" — Al F1-W AT E
- "\I& Nll\# .\.l\‘.‘ mglm “ﬁ:ﬁi?
Options :
Experiments and field observations

- SIAIRAT A8 FFEC AT

Formulation of hypothesis

ST SR
2. ¥

Conceptual understanding

HIeI51S 4- AT

Information skills and project works

T VTS AT SFFANE TG

Question Number : 149 Question Id : 6981773824 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0



Which of the following statements are TRUE related to elements of teaching
learning approach?
AT TGS AT AL FL-T7 TG @ T2 TS S A AT 27
A) The approach should help children learn how to learn

QT Sl SIS AMEETALE FLI Sl IO TT, O “TUTal ASET F1T
B) The approach should engage children in learning activity

A% S AL A1 SAFEISBIOL STT4EE TFG Fa

(‘} Produet skills must be integral part of environmental studies teaching

learning process

ST el SIS STl AVl STgT=t-T9 SIameivE SIe«l 54T
D) The approach should be in accordance with children’s individual

differences

AF ST ST MBS AIC(9d LB S 29t 241

LA

ChGDSE‘ the correct answer:

A (F Toodbl AUt w13

Options :

ABC&D
1. %

A.B&Cﬂnly

e A.Bé& C
2. %

A.B & Donly

Faareg A B&D
3.¢

B, C & D only

4w Fgeneg B.C& D



Question Number : 150 Question Id : 6981773825 Question Type : MCQ Option Shuffling : Yes
Is Question Mandatory : No Calculator : None Response Time : N.A Think Time : N.A

Minimum Instruction Time : 0

Correct Marks : 1 Wrong Marks : 0

This committee 1n the report stated that school curriculum should be totally
re-organised for sharpening of natural creative abilities of students and to

make teaching meaningful.

AT H-EEL FAMG! A0 FAEL T AFA SATIAFIT TI4EE AT 518
ALEIHG FACL T, BTGNS AATSAF AGATH FATGIRL ATOL ST FIFLE

Sl A A2 “TFAT ISR ST Fl AT

Options :

Yashpal committee

=<[SATE AT

w/,)

Ishwarbhai patel committee

TSI SR FaiE

Ramakrishna Rao committee

SHETSIE S FAE

Kasturi Rangan committee

FAGA A FAGT
4. ®



